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•••• Ñi;k t k¡p dj ysa fd bl iz'u& i= e sa e qfnzr i`"B 16 rFkk iz'u 30 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 30 questions. 

•••• iz'u& i= esa nkfgus gkFk dh vksj fn;s x;s d ksM u Ecjd ksM u Ecjd ksM u Ecjd ksM u Ecj  dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[ku k 'kq: dju s ls igys] iz'u d k Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp e sa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU ; 'khV u gha fey sxhA vr% vko';drkuqlkj gh fy [ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viu k jksy ua0 iz'u& i= ij vo '; fy[ksaA jksy u a0 ds vfrfjDr iz'u& i= ij vU; d qN Hkh u 
fy [ksa vkSj oSdfYid iz'u ksa ds mÙkjksa ij fdlh izdkj dk fu'kku u y xk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfu f'pr d j ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k lEc U/k lEc U/k lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAe sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAe sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAe sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA     

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; lkekU; lkekU; lkekU; fu nsZ'k  %fu nsZ'k  %fu nsZ'k  %fu nsZ'k  %     

General Instructions : 

 (i) lHk h iz 'u vfuok; Z gSaAlHk h iz 'u vfuok; Z gSaAlHk h iz 'u vfuok; Z gSaAlHk h iz 'u vfuok; Z gSaA     

         All questions are compulsory.  

 (ii) izR;sd  iz'u ds vad mlds lke us fn;s x;s gSaA 

   Marks are given against each question. 
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 (iii) ç'uksa ds mÙkj muds vadkuqlkj nhft,A 

   Answer the questions according to their marks. 

 (iv) fu cU /kkRed iz'u ksa ds lHkhlHkhlHkhlHkh iz'uksa esa vkU rfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks 

dsoy ,ddsoy ,ddsoy ,ddsoy ,d  gh iz'u djuk gSA 

  Internal choice is given in all questions of essay type questions. You have to 

attempt only one of the given choice in such questions. 

[ o Lrqfu "B iz'uo Lrqfu "B iz'uo Lrqfu "B iz'uo Lrqfu "B iz'u ] 

[ Objective Type Questions ] 

fu Eu fyf[kr cgqfodYih; iz'uksa d s l ghl ghl ghl gh  fodYi pqfu , % 

Select the correct option of the following multiple choice questions : 

  1. ,d e klh; vk;q ds cNM s+ d ks % 1 

 (A) mlds Hkkj dk 5ok¡ Hkkx nw/k nsuk p kfg,A 

 (B) mlds Hkkj dk 10ok¡ Hkkx nw/k nsu k pkfg,A 

 (C) mlds Hkkj dk 15ok¡ Hkkx nw/k nsu k pkfg,A 

 (D) mlds Hkkj dk 20ok¡ Hkkx nw/k nsu k pkfg,A 
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 One month old calf should get milk : 

 (A) 5th part of its weight  

 (B) 10th part of its weight 

 (C) 15th part of its weight  

 (D) 20th part of its weight  

  2. ladj uLy dh xk; % 1 

 (A) 14-15 ekl esa xHkZ /kkj.k ;ksX; gks tkrh gSA 

 (B) 20-25 ekl esa xHkZ /kkj.k ;ksX; gks tkrh gSA 

 (C) 15-20 ekl esa xHkZ /kkj.k ;ksX; gks tkrh gSA 

 (D) 15-16 ekl esa xHkZ /kkj.k ;ksX; gks tkrh gSA 

 Cross breed cow : 

 (A) Able to be pregnant in 14-15 month of age. 

 (B) Able to be pregnant in 20-25 month of age. 

 (C) Able to be pregnant in 15-20 month of age. 

 (D) Able to be pregnant in 15-16 month of age.  
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  3. uj i'kq ls oh;Z y sus ds fy, Ñf= e ;ksfu d k rkie ku % 1  

 (A) 105°F (B) 105-110°F 

 (C) 105-115°F (D) 100°C 

 For collection of semen from bull, the temperature of artificial vagina should be :  

 (A) 105°F (B) 105-110°F 

 (C) 105-115°F (D) 100°C 

  4. xHkZikr rwQ ku fd l jksx ds dkj.k gksrk gS \ 1 

 (A) cwzlsyksfll 

 (B) y gw ewruk  

 (C) FkuSyk 

 (D) p hpM +h cq[kkj  

    Storm Abortion in animal is caused by which disease ?  

 (A) Broucellosis (B) Babesiosis 

 (C) Theleriosis (D) Mastitis  
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  5. 'khryk e krk jksx % 1 

 (A) ,d dhVk.kq jksx gSA 

 (B) ,d thok.kq jksx gSA 

 (C) ,d lw{e fo"kk.kq jksx gSA 

 (D) vU; jksx gSA 

 Rinderpest disease is : 

 (A) A worm disease 

 (B) A bacterial disease 

 (C) A viral disease 

 (D) Other disease  

  6.  e qfxZ;ksa dk gStk % 1 

 (A) e PNj } kjk QSy rk gSA 

 (B) e fD[k;ksa } kjk QSyrk gSA 

 (C) p hpfM+;ksa }kjk Q Syrk gSA 

 (D) gok }kjk QSy rk gSA 
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 Fowl cholera disease is spreaded by : 

 (A) Mosquitoes 

 (B) Flies 

 (C) Ticks 

 (D) Wind  

fuEufyf[kr iz'uksa ds mÙkj ,d 'kCn,d 'kCn,d 'kCn,d 'kCn esa nhft, % 

Answer the following questions in one word : 

  7. ,d gh uLy  d h ekrk dk fudV laca/kh u j ls ¼tkuojksa½ lEHkksx D;k dgy rk gS \ 1 

 Mating of close relative within species is called ………… . 

  8. dkSu-lk fo"kk.kq jksx d qÙks ds d kVus ls eosf'k;ksa vkSj eu q"; e sa Q Sy rk gS \ 1 

 Which viral disease is spreaded among animals & men by bitting of dog ? 

  9. dkSu-lk vkgkj dk rÙo i'kq d s 'kjhj e sa e kal o iqV~Bs fu ekZ.k esa dk;Z d jrk gS \ 1 

 Which element of ration is useful in making meat & thigh of animal body ? 
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mfpr 'kCnksa }kjk fjDr LFkkuksa dh iwfrZ djsa % 

Fill in the blanks by appropriate words : 

10. eknkfo"Vrk ds le kIr gksus ds ………….. ?k.Vs ckn v.M k'k; ls v.M k fu dyrk gSA 1 

 Egg is sheded out from ovary of animal after the end of heat ………….. hours. 

11.    ………….. d ks ygw ewru k jksx dgrs gSaA 1 

    ………….. is called redwater disease. 

12. ,d u j i'kq dk de jk ………….. e ki dk gksuk p kfg,A  1 

 The dimension of room of a bull should be ………….. . 

fuEufyf[kr nksnksnksnks dFkuksa ds vk/kkj ij mi;qDr mÙkj dk p;u djsa % 

Select the appropriate answer based on the following two statements : 

13. dFkudFkudFkudFku (A) : pwt ksa ds 'kjhj e sa rkie ku cuk;s j[kus ds fy, cwzfM ax t: jh gSA 1 

 dFkudFkudFkudFku (B) : u otkr p wts Lo;a viu s 'kjhj ds rkieku la;kstu e sa vleFkZ gksrs gSaA 

 (i) dFku (A) lgh gS] ysfdu dFku (B) xy r gSA 

 (ii) dFku (B) lgh gS] ysfd u dFku (A) xy r gSA 

 (iii) nksu ksa dFku lgh gSa vkSj dFku (B), dFku (A) dk lgh Li"Vhdj.k gSA  

 (iv) nksu ksa dFku lgh gSa] ysfdu dFku (B), dFku (A) d k lgh Li"Vhdj.k u gha gSA 
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 Statement (A) : Brooding is very important during early age of chicks. 

 Statement (B) : Young chicks/newly hatched chicks are poor in 

thermoregulation in early life. 

 (i) Statement (A) is correct, but Statement (B) is wrong. 

 (ii) Statement (B) is correct, but Statement (A) is wrong. 

 (iii) Both Statements are correct and Statement (B) is the correct explanation of 

Statement (A). 

 (iv) Both Statements are correct, but Statement (B) is not the correct 

explanation of Statement (A). 

14. dFku dFku dFku dFku (A) : Fksysfj;ksfll dks f Vd-Q hoj ds uke ls Hkh igpku k tkrk gSA 1 

 dFku dFku dFku dFku (B) : ;g jksx osDVj tfur jksx ugha gSA 

 (i) dFku (A) lgh gS] ysfdu dFku (B) xy r gSA 

 (ii) dFku (B) lgh gS] ysfd u dFku (A) xy r gSA 

 (iii) nksu ksa dFku lgh gSa] ysfdu dFku (B), dFku (A) dh lgh O;k[;k ugha gSA  

 (iv) nksu ksa dFku xyr gSaA 
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 Statement (A) : Theleriosis is also known as tick fever. 

 Statement (B) :  It is not vector born disease. 

 (i) Statement (A) is correct, but Statement (B) is wrong. 

 (ii) Statement (B) is correct, but Statement (A) is wrong. 

 (iii) Both Statements are correct, but  Statement (B) is not correct explanation 

of Statement (A). 

 (iv) Both Statements are wrong. 

15. dFku dFku dFku dFku (A) : MOET og rdu hd gS ftle sa ,d eknk i'kq ls dbZ vaMs fu "ksfpr gksrs gSaA 1 

 dFku dFku dFku dFku (B) : ;g loksZÙke tku ojksa dh vkuqoaf'kd {kerk c<+ku s dk ,d  mRÑ"V rjhdk gSA 

 (i) dFku (A) lgh gS] ysfdu dFku (B) xy r gSA 

 (ii) dFku (B) lgh gS] ysfdu dFku (A) xyr gSA 

 (iii) nksu ksa dFku lgh gSa] ysfdu dFku (B), dFku (A) dh lgh O;k[;k ugha gSA  

 (iv) nksu ksa dFku xy r gaSA  
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 Statement (A) : MOET is a technique in which multiple eggs are fertilized in 

single female animal. 

 Statement (B) : It is an excellent method of enhancing genetic potential of best 

animal. 

 (i) Statement (A) is correct, but Statement (B) are wrong. 

 (ii) Statement (B) is the correct, but Statement (A) is wrong. 

 (iii) Both Statements are correct, but Statement (B) is not correct explanation of 

Statement (A). 

 (iv) Both Statements are wrong.  

 [ vf ry?k q mÙkjh;vf ry?k q mÙkjh;vf ry?k q mÙkjh;vf ry?k q mÙkjh;     iz'uiz'uiz'uiz'u ] 

[ Very Short Answer Type Questions ] 

16. Msjh i'kqvksa esa Ñf=e xHkkZ/ kku ds D;k ykHk gSa \ 2 

 Advantages of artificial insemination in dairy animal. 

17. Msjh eknk i'kq e sa xzh"e FkuSyk jksx d k o.kZu djsaA 2 

 Describe summer mastitis in dairy female animals.  
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18. izoj iztu u D;k gksrk gS \  2 

 What is selective breeding ? 

19. Ogs (Whey) D;k gksrk gS] crkb, \ 2 

 Describe term whey. 

20. i'kqvksa esa oFkhZ dh fd Leksa dk o.kZu d hft ,A 2 

 Describe the types of mange in animal. 

 

vFkokvFkokvFkokvFkok     

OR 

 nw/k ,d=hdj.k dsUnz d s y kHk crkb,A 

 Advantage of milk collection centre. 

21. izkUrh; i'kq izn 'kZu h dk o.kZu djsaA 2 

 Describe State animal show. 
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vFkokvFkokvFkokvFkok     

OR 

 i'kq esa piVs dhMs+ D;k gksrs gSa \ 

 What are Tape worm in animal ? 

[ y?kq mÙk jh ;y?kq mÙk jh ;y?kq mÙk jh ;y?kq mÙk jh ;     iz'uiz'uiz'uiz'u ] 

[ Short Answer Type Questions ] 

22. nw/k ls cuus okys fofHkUu izdkj ds mRikn dkSu-ls gSa \ nw/k ijh{k.k ds lh0 vks0  ch0 VsLV d k          

o.kZu djsaA 3 

 What  are the various milk products & describe C. O. B. test of Milk testing ? 

23. i'kqvksa esa [kqjidk vkSj e q¡gidk jksx ds y {k.k ,oa fu ;a= .k ds mik; fyf[k,A 3 

 Write down the symptoms and control method of foot and mouth disease in 

animal. 

24. lgdkfjrk ds ewy  fl)kU r dk o.kZu dhft,A 3 

 Describe the main aim of Sahkarita. 

25. jkuh[ksr jksx dk eqfxZ;ksa esa izd ksi fyf[k,A 3 

 Describe the morbidity of Ranikhete disease in poultry. 
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26. i'kqvksa e sa eq[; laØked jksxksa d s uke fyf[k, rFkk jksdFkke ds fy , fofHkUu izdkj ds Vhdksa ds uke   

fyf[k,A 3 

 Write down the names of contagious disease of animals & write down the name 

of vaccine used for controlling them. 

vFkokvFkokvFkokvFkok     

OR 

 i'kq dk lsjks (SARS) e sa Hkkj Kkr dj fyf[k,A 

 Write down the weight of animal in SARS. 

27. pwts [kjhnrs le ; D;k-D;k lko/kkfu ;k¡ cjru h pkfg, \ 3 

  What are the precautions to be taken while purchasing Chick ? 

vFkokvFkokvFkokvFkok     

OR 

 nw/k d k ik'pqjhdj.k D;k gksrk gS] fyf[k, \ 
 What is pasteurization of milk ? 

[ f ucU/kkR edf ucU/kkR edf ucU/kkR edf ucU/kkR ed     iz'uiz'uiz'uiz'u ] 

[ Essay Type Questions ] 

28. [kfu t feJ.k D;k gS \ M sjh i'kqvksa ds vkgkj e sa [kfut  feJ.k d h iwfrZ ds egÙo dks fyf[k,A 5 

 What is Mineral mixture ? Describe its role in animal feed/ration. 
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vFkokvFkokvFkokvFkok     

OR 

 i'kq e sa nw/k mRiknu c<+ku s ds fy, iztu u dh D;k fof/k;k¡ gSa \ izoj t uu d k o.kZu djsaA 

 What are the breeding system for increase milk production of animals. 

29. i'kqvksa e sa e krk jksx vkSj e q¡g-[kqj jksx dks dSls igp kuk t krk gS \ nksuksa jksxksa ls i'kq/ ku dks dSls cp k;k 

tk ldrk gS \ o.kZu djsaA 5 

 How do you differentiate Rinderpest & Foot and mouth diseases in animals ? 

How would be saved the animals from these diseases ?  

vFkokvFkokvFkokvFkok     

OR 

 Ñf= e xHkkZ/kku fdls dgrs gSa \ blds D;k ykHk gSa \ 

 What is artificial insemination ? Describe its advantages. 

30. LoPN  nw/k D;k gksrk gS \ nw/k teu s ds d kj.kksa dk o.kZu d jsaA 5 

 What is clean milk & write down the reason for curdling milk ? 
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vFkokvFkokvFkokvFkok     

OR 

 cN M+s-cN fM +;ksa dh ,d fnu d h izn'kZu h dk o.kZu dhft,A 

 Describe  one day show of calfs. 

 

S 

 


